S H R R

(20214EF)
MARH (o ST TS N YRR
FEH #F mde BRI R SERE ST #F mde B AR R
FEERELE: 537. 21
wEEEN (im) Hor: WBUREK 537. 21
HAb g4 0. 00
FEE B
B |[20214F I RIBENS3T. 217576, FEM TH@ERAFIRE/NX IR, Hb: @RBEA 2R A #5224, 96°F 7K. 7Bkl
o [#7372. 96T UK FERIING622. 15°F UK AR 271, 36°F 5K T E2035. 13°F 0K, HESRG LA, A IWE ST
g |FEAT BRI G . T H IR S A T 2 TP O — SRR (R T, R SR B TSR A, IR BN 0,
i (RN BSOS B TR, S5 A POl AR AT 7 B A B, AR SRIERORE A TRIEOR, I 5B ST i
R, ZaIPUE RN DB AME T2, A I E BTN A SN T AMIE 110, 74050, T2 s UL 3T
N F1H R AN T-95%.
— &I e’ & =17 =Z&IER Ei= AN 1=
WA TR X R (Z%kfE) >=1
BRI MEE (k) >=2JA
VIR B A (=5 Pk >=224. 96°F )5 K
WP E T (=KD >=372. 96°F 5 K
. ARERHEA (=P 052K >=622. 15°F 5K
HWAEFRXHEA (=KD >=271. 36V J5 K
HEHFMHEHEA (Z+F K >=2035. 13°FJ5 2k
R IEE (=) >=14
BRI EIEE (=) =14
BRI SEEE (ZxE) >=9%
e TR G o) =100%
WRBILAIEE Gk =100%
F= R bR L Tt H FF T[] 20214E2H
BV EERA -
T H 5¢ 1B ] 20214E11 H
5% HERBAES MR A (<sH7T) <=133. 163 7%
o R FBRA (<+170) 21 08717
¥ W E A (<0 <=30. 483 7T
BEMIG A (<70 <=7.39H 7t
BRI EA (Sk770) <=44. 13} 7
FAS TR bR BRI RSA (<70 <=22.73Ji TG
BEHFIERA (<Ss70) <=149. 86 /i G
BT RA (k70 <=0. 62/ 7C
BRI RA (<0 <=4. 7157t
AR TRERA (S0 <=72.99737C
RIS (S T570) <=50. 06 /i G
GRS AT t**%ﬂﬁbﬂﬂﬁﬁﬁ)\ﬂ%i%q&)\ C =06 15210, 74 H ¢
‘ _ ek k32 af JLE B 2T N EE (=560 >=112 A
2 2a Fa b - : ———
N B F DL B 3TN o A (=6 A0 >=6 A\
LYEHEILIN ———
SOy G =t N
I TR AR (=44 >=204F
e LI roymeysr——" ry=
i AR AR MRS 3 G R TR bs |2 AIE BTN HR R =% ) >=95%




